BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 14 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 04, 2025
LJA ENGINEERING, INC.
D. FORREST
APRIL 04, 2025
0386-5140C (9.2)

## BIDDER NAME

BASE BID

1) BEYER CONSTRUCTION, LLC

\$875,947.80

2) DACO PAVING, INC.

\$916,000.00

3) PRECISE SERVICES INC.

\$938,256.30

4) R CONSTRUCTION CIVIL, LLC

\$988,813.00

ering

55/65

STEVEN BOYD

103430

CENSE

ONAL EN

I, Steven Boyd, P.E., hereby certify these bid tabulations to be true and correct

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 14 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 04, 2025
LIA ENGINEERING, INC.
D. FORREST
APRIL 04, 2025
0386-5140C (9.2)

			1) BEYER CONSTRUCTION, LLC		2) DACO PAVING, INC.		3) PRECISE SERVICES INC.		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
SECTION 14- PAVING ITEMS  1. ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 14 OF 32), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTIC TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	4662	\$6.90	\$32,167.80	\$6.20	\$28,904.40	\$6.50	\$30,303.00	\$7.00	\$32,634.00
<ol><li>FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPINGS AND PROOF ROLLING, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE</li></ol>	EA	101	\$255.00	\$25,755.00	\$250.00	\$25,250.00	\$190.00	\$19,190.00	\$260.00	\$26,260.00
<ol> <li>6" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIV STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE</li> </ol>	E SY	10951	\$51.80	\$567,261.80	\$51.00	\$558,501.00	\$56.25	\$615,993.75	\$55.00	\$602,305.00
<ol> <li>6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLAC</li> </ol>	SY E	11653	\$3.00	\$34,959.00	\$4.25	\$49,525.25	\$4.85	\$56,517.05	\$7.00	\$81,571.00
<ol> <li>HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE</li> </ol>	TON	88	\$370.00	\$32,560.00	\$365.00	\$32,120.00	\$345.00	\$30,360.00	\$340.00	\$29,920.00
<ol> <li>FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE</li> </ol>	TON	233	\$130.00	\$30,290.00	\$135.00	\$31,455.00	\$135.00	\$31,455.00	\$140.00	\$32,620.00
7. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1340	\$4.80	\$6,432.00	\$4.50	\$6,030.00	\$5.00	\$6,700.00	\$4.00	\$5,360.00
8. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4984	\$4.80	\$23,923.20	\$4.50	\$22,428.00	\$5.00	\$24,920.00	\$4.00	\$19,936.00
CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	28	\$71.00	\$1,988.00	\$8.00	\$224.00	\$40.00	\$1,120.00	\$60.00	\$1,680.00
10. STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	28	\$20.00	\$560.00	\$20.00	\$560.00	\$23.50	\$658.00	\$40.00	\$1,120.00
11. 4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	9	\$8.50	\$76.50	\$19.00	\$171.00	\$20.00	\$180.00	\$15.00	\$135.00
12. PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPPING), COMPLETE IN PLACE	LS	1	\$3,850.00	\$3,850.00	\$3,445.85	\$3,445.85	\$3,850.00	\$3,850.00	\$3,100.00	\$3,100.00
13. 6" PVC IRRIGATION SLEEVES SCHEDULE 40, PER DETAIL, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	90	\$45.00	\$4,050.00	\$55.00	\$4,950.00	\$55.00	\$4,950.00	\$75.00	\$6,750.00
14. REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$40.00	\$40.00	\$1.00	\$1.00	\$100.00	\$100.00	\$1.00	\$1.00
15. STREET SIGNS WITH YELLOW POST PER HC SPEC 644, COMPLETE IN PLACE	EA	3	\$825.00	\$2,475.00	\$850.00	\$2,550.00	\$875.00	\$2,625.00	\$700.00	\$2,100.00
16. R1-1 STOP SIGN, AND STREET SIGN WITH YELLOW POST PER HC SPEC 644, COMPLETE IN PLACE	EA	3	\$935.00	\$2,805.00	\$1,000.00	\$3,000.00	\$965.00	\$2,895.00	\$770.00	\$2,310.00
17. INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,475.00	\$1,475.00	\$1,500.00	\$1,500.00	\$1,550.00	\$1,550.00	\$1,200.00	\$1,200.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 14 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 04, 2025
LIA ENGINEERING, INC.
D. FORREST
APRIL 04, 2025
0386-5140C (9.2)

				1) BEYER CONSTRUCTION, LLC		2) DACO PAVING, INC.		3) PRECISE SERVICES INC.		4) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
RE	A RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES MOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER PURTENANCES, (PER DETAIL SHEET 31), COMPLETE IN PLACE	EA	6	\$1,360.00	\$8,160.00	\$1,500.00	\$9,000.00	\$1,450.00	\$8,700.00	\$2,500.00	\$15,000.00
СО	LL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, ORDINATE WITH GBI PARTNERS, INC, STEVE WIGGINGTON, 1.499.4539, COMPLETE IN PLACE	LS	1	\$6,345.00	\$6,345.00	\$6,600.00	\$6,600.00	\$6,345.00	\$6,345.00	\$6,345.00	\$6,345.00
ELE SIG CEI GB	BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING EVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, INJEICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A RIFIFED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH I PARTNERS, INC., STEVE WIGGINGTON, 281.499.4539, COMPLETE IN ACE	LS	1	\$3,500.00	\$3,500.00	\$3,700.00	\$3,700.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
CO DC CO ST/ OR	ITA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED  NSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM ES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN NSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION AKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, DERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN UIPMENT, ETC.)	HR	1	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00	\$200.00
SEC PR	ADWAY AND LOT EXCAVATION FROM GRAND PRAIRIE HIGHLANDS CTION 14 TO BE HAULED, SPREAD, AND COMPACTED WITHIN GRAND AIRIE HIGHLANDS, MAX HAUL DISTANCE 1 MILE ONE WAY, OFF-ROAD, AS RECTED BY ENGINEER, COMPLETE IN PLACE	CY	3500	\$5.00	\$17,500.00	\$8.25	\$28,875.00	\$5.00	\$17,500.00	\$8.00	\$28,000.00
HIC GR	ADWAY AND LOT EXCAVATION FROM ADJACENT GRAND PRAIRIE GHLANDS PROPERTY TO BE HAULED, SPREAD, AND COMPACTED IN AND PRAIRIE HIGHLANDS SECTION 14, MAX HAUL DISTANCE 1 MILE, OFF- AD, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	СҮ	3500	\$5,00	\$17,500.00	\$8.25	\$28,875.00	\$5.00	\$17,500.00	\$8.00	\$28,000.00
STA	MOVE AND REPLACE EXISTING DAMAGED 6" THICK CONCRETE AT LIFT ATION DRIVEWAY, DISPOSE OF DAMAGED CONCRETE OFFSITE AT NO DITIONAL COST, COMPLETE IN PLACE	SY	12	\$470.00	\$5,640.00	\$450.00	\$5,400.00	\$155.00	\$1,860.00	\$210.00	\$2,520.00
SUBTOTAL S	SECTION 14- PAVING ITEMS			-	\$829,513.30	-	\$853,265.50	=	\$888,971.80		\$932,567.00
1. ST/	- STORM WATER POLLUTION PREVENTION ITEMS AGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR OPOSED AND EXISTING INLETS	EA	22	\$100.00	\$2,200.00	\$150.00	\$3,300.00	\$100.00	\$2,200.00	\$50.00	\$1,100.00
СО	DRMWATER POLLUTION PREVENTION INSPECTION REPORTS NDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE PLACE	LS	1	\$5,400.00	\$5,400.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
	STALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT RRIER FENCING) ALONG BACK OF CURB, COMPLETE IN PLACE	LF	6323	\$1.50	\$9,484.50	\$1.50	\$9,484.50	\$1.50	\$9,484.50	\$2.00	\$12,646.00
	STALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, MPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$500.00	\$500.00
RE	STALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND GRADE, (AS DIRECTED BY THE GINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$500.00	\$500.00

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 14 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 04, 2025
LIA ENGINEERING, INC.
D. FORREST
APRIL 04, 2025
0386-5140C (9.2)

			1) BEYER CONSTRUCTION, LLC		2) DACO PAVING, INC.		3) PRECISE SERVICES INC.		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<ol> <li>BROADCAST SEEDING INCLUDES FERTILIZING AND WATERING, CONTRACTOR TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li> </ol>	AC	18		\$9,000.00	\$1,000.00	\$18,000.00	\$500.00	\$9,000.00	\$650.00	\$11,700.00
7. 30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLAC		1	\$800.00	\$800.00	\$800.00	\$800.00	\$800.00	\$800.00	\$800.00	\$800.00
SUBTOTAL SECTION 14 - STORM WATER POLLUTION PREVENTION ITEMS			-	\$27,884.50	-	\$38,784.50		\$24,484.50		\$28,746.00
SECTION 14 - MISCELLANEOUS ITEMS  1. EXTRA CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH AFTER 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE PLACE		100	\$20.00	\$2,000.00	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$45.00	\$4,500.00
2. EXTRA CLASS A CONCRETE, AS DIRECTED BY THE ENGINEER, COMPLETE PLACE	N CY	20	\$400.00	\$8,000.00	\$400.00	\$8,000.00	\$400.00	\$8,000.00	\$400.00	\$8,000.00
3. HYDROMULCH SEEDING IN ROW AS DIRECTED BY ENGINEER. CONTRACT SHALL ENSURE VEGETATION GROWTH BY ANY NECESSARY MEANS, INCLUDING RE-SEEDING OR WATERING AT NO SEPARATE PAY, AS DIREC BY THE ENGINEER, COMPLETE IN PLACE		2	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00
<ol> <li>14' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OI EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li> </ol>	R EA	1	\$1,200.00	\$1,200.00	\$2,225.00	\$2,225.00	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00
<ol> <li>18' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OI EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li> </ol>	R EA	1	\$1,400.00	\$1,400.00	\$2,400.00	\$2,400.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00
<ol> <li>12' X 5' X 4" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OI EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li> </ol>	R EA	1	\$1,000.00	\$1,000.00	\$1,950.00	\$1,950.00	\$1,925.00	\$1,925.00	\$2,000.00	\$2,000.00
<ol> <li>10' X 5' X 4" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OI EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li> </ol>	R EA	1	\$950.00	\$950.00	\$1,875.00	\$1,875.00	\$1,675.00	\$1,675.00	\$2,000.00	\$2,000.00
SUBTOTAL SECTION 14 - MISCELLANEOUS ITEMS			-	\$18,550.00	_	\$23,950.00	-	\$24,800.00		\$27,500.00
BID SUMMARY										
SECTION 14- PAVING ITEMS				\$829,513.30		\$853,265.50		\$888,971.80		\$932,567.00
SECTION 14 - STORM WATER POLLUTION PREVENTION ITEMS				\$27,884.50		\$38,784.50		\$24,484.50		\$28,746.00
SECTION 14 - MISCELLANEOUS ITEMS				\$18,550.00		\$23,950.00		\$24,800.00		\$27,500.00
TOTAL AMOUNT BASE BID				\$875,947.80		\$916,000.00		\$938,256.30		\$988,813.00